
 Vout variation for TLV431AI based error amplifier

Voutnom 5V:= RFBU 41.2kΩ:= RFBL 13.3kΩ:= VREF 1.24V:= PPM 10
6−

:=

Voutcalc VREF

RFBU RFBL+

RFBL

⋅ 5.081V=:= ∆Temp 125K:=

 TLV431AI tolerances

Vref_tol25 1%:= ∆Vref_temptyp 6mV:= ∆Vref_tol25 Vref_tol25 VREF⋅ 0.012V=:=

 Resistors CRCW0603 type with 1% nominal tolerance Rtol 1%:= Rtol_temp 100
PPM

K
:=

∆RFBU RFBU Rtol⋅ 0.412kΩ=:= ∆TRFBU RFBU Rtol_temp⋅ ∆Temp⋅ 0.515kΩ=:=

∆RFBL RFBL Rtol⋅ 0.133kΩ=:= ∆TRFBL RFBL Rtol_temp⋅ ∆Temp⋅ 0.166kΩ=:=
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